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MAP 4175 5177 Name: K Ey

Test 4 Date: Scptember 28, 2016

Each problem is worth 10 points. Show all work for full credit. and use correct notation.
Simplity answers completely. Sce other side for additional problems.

Using ILT mortality, determine each of the foll owing: [
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Given lgy = 1000, and pg, = .8, and ,p,, = .45 determine each of the following:
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3. Given g,4 = 0.0104 and g,, = 0.0117 determine 0.7970.6 using the UDD assumption.
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4. Given ggoyy = .1 + .05k, for k= 0 and 1, determine 1.3/0.79g0 using the UDD [
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5. Given g9 = .1(k + 1), for k=0 and 1, determine 0.2j0.5990.¢ using the CF assumption
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